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QUESTION 1

A developer creates the following code snippet to implement a simple polling importer to fetch stock prices from an
external source: 

The polling importer needs to fetch stock prices for a specific stock symbol and needs to be triggered every 5 minutes. 

Which node structure should the developer create in CRX to make sure that the code shown is executed successfully? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 2

An online insurance company website has user-generated content that must be replicated in all publish instances. 

What action should the developer take to achieve this? 

A. Configure the dispatcher flush agent in publish instance. 

B. Configure reverse replication agents for the author. 

C. Configure the replication agent in the publish instances. 

D. Disable static agent in the author instance. 
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Correct Answer: A 

Reference: https://helpx.adobe.com/fi/experience-manager/6-4/sites/deploying/using/replication.html 

 

QUESTION 3

A developer is working on the following Sling Model that is being used in a component. 

The model must check if the configured value of the jcr:title property for the component matches the name of the current
page. If the jcr:title property of the component has NOT been configured, then isMatchingTitle() must return false. 

How should the developer inject the title property in this model? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

 

QUESTION 4

A developer is installing a content package with the package manager. The developer needs to restrict the approximate
number of nodes in a batch that is saved to persistent storage in one transaction. 

How should the developer modify the number of transient nodes to be triggered until automatic saving? 

A. AEM instances automatically modify the number of transient nodes based on the load balancing. 

B. Modify the export package manifest header and copy the content package to AEM installation folder. 

C. Select the option MergePreserve for the Access Control Handling drop-down in the Install Package dialog-box. 

D. Change the value of Save Threshold in the Install Package dialog-box. 

Correct Answer: C 

 

QUESTION 5

In which two ways can a developer keep simple and maintainable CRX Access Control Lists? (Choose two.) 

A. Delete the `everyone\\' group. 

B. Use Deny statements sparingly. 

C. Assign access rights to user groups rather than users. 

D. Assign access rights user by user. 

E. Use Deny statements extensively. 

Correct Answer: CD 

Reference: https://helpx.adobe.com/experience-manager/6-3/sites/administering/using/user-group-acadmin.html 
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